
790 ADVENTURE, black - D.D 2024 <2024><EU><F9603X4>
CLUTCH COVER

69089

Pos Part Number Description Additional Text Quantity

1 C9003020114441 Clutch cover cpl. 1.00

1 C9003010114441 Clutch cover cpl. KTMR2R only for CN 1.00

2 C90030025100 Form ring, clutch cover 1.00

3 C90030020100 oil plug cpl. M24x3 1.00

4 C0770191015 O-ring 19x3 NBR 1.00

5 C90030024000 Dowel 2.00

6 C0025060356 Screw M6x35 4.00

8 C0025060256 Screw M6x25 3.00

9 C90032048003 clutch release lever spring 1.00



11 63532149000 Clutch release shaft 1.00

12 C0799090003 retaining washer DIN 6799 - 9 1.00

13 C0760122060 Shaft seal ring 32x45x6.5 1.00

14 C90032148033 Release lever assembly cmpl. 1.00

15 C014580060206S Cyl. screw ISO 14580 M6x20 SS 1.00

16 C63532052100 Cable retaining bracket 1.00

17 C0000250601600 HH collar screw M6x16 TX30 2.00

18 A64602090000 Clutch cable wire 1.00

19 C0934080006 Hexagonal nut DIN 934 M8 2.00


